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Part II 3-Tier
BIOCHEMISTRY
PAPER--1I
(Génera.l)
Full Marks :90
Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Cdndidates are required to give their answers in their
own words as far as practicable.

. Group—A
Answer any fwo questions, taking at least one question
from each sub-group. : 2x15
Sub-group—A(a) |

1. (a) Discuss the biochemical process of entry of pyruvic
‘acid into TCA Cycle.
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(b) Mention the role of key enzymes of TCA cycle.

(¢} Calculate the energetics of TCA Cycle. 6+6+3

2. (a) What do you mean by Ornithin. cycle ? State the
location of Ormthm cycle.

(b) Describe the-pathway of urea synthesis in our body.

(c) Briefly mention the metabolic process of any two

amino acids present in blood. {2+1)+8+4

Sub-group—A(b)

3. (a) What is unit membrane ? Mention the characteristics

of lipid bilayer in unit membrahe.

(b) Describe with suitable diagram the fluid mosaic model
of membrane and mention their functions.
(2+3)+8+2

4, (a) What do you mean by flavonoids ? Mention the source

of flavonoids in our diet.
(b) Discuss the role of flavonoids in our body.

{c} How lignin is formed ? (2+3)+6+4
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Group-QB

Answer any five questions, taking at least two from each
sub-group. . 5x8

Sub-group—B{a)
5. (a) What are phosphagens?
(b}’ Mention the biochemical structure of ATP and state
its role in our body. 2+(4+2)
6. (a) Discuss the biological importance of pentose sugars
in our body.
- (b) How does Warburg-Dickens-Lipmann pathway operate
in our body? _ 7 3+5
7. '('a) Differentiate between substrate level phosphorylation
. and oxidative phosphorylation.
‘(b) Mention the biological importance of oxidative phos-

phorylation. 3+5

8. (a) Name the ketone bodies present in our body. Why
: they are so named?
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(b)

9. (a)

{b)

10. (aj

(b)

11. (a)

(b)

12. (a)

(b}

13. (a)

State the biochemical pathway of formation of ketone
bodies. (2+1)+5

Differentiate between purine and pyrimidine.

How does purine metabolism take place ? 2+6

Sub-group—B(b)
State the role of liver in our metabolic purpose.

How does our body tissue help in detoxification
process ? 4+4

What are carotenoids ? Mention the food source of
carotenoids in our society.

How carotenoid pigments are synthesized in our

body ? (2+1)+5

Differentiate between pharmacokinetics and
Pharmacodynamics.,

Briefly mention the mechanism of action of antibiotic
drugs in the body. 2+6
Mention the principle of chromatography:,
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(b), Write the procedure of thin layer chromatography.
‘ ' 2+6

14. (a) Write a brief note on ionophores.

{b) What do you mean by symport and antiport ?
: 4+(2+2)

Group—C -
Answer any five questions, taking at least two from each

sub-group. _ 5x4

Sub-group—C(a)

15. What is Cori cycle ? Mention its significance. 1+3

16. State the significance of pentose phosphate pathway.

4

17. Define transamination with one example. 2+2

18. What do you mean by nucleotide and nucleoside ?
2+2
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15. Mention the biochemical role of cytochrome in electron

transport chain. 4

Sub-group—Ci(b)

20. State the function of sarcoplasmic reticulum. What is

triad ? | 2+2
21. Mention the functions of gibberellins, 4
22. What is Beer-Lamberts Law? 4

23. Write the significance of use of isotopes in physiology.
.4

24. Describe the character of a alkaloid to be used as drug.
4
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